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Questions

1.  Comment on the following statement:  Even with no payment from Mahoning to Central, Central would have received 80% of the benefit of the tax arrangement.  

2.  Suppose that the share prices of both companies increased to reflect the benefits of the arrangement.  How much benefit did the minority shareholders of Mahoning receive?  How much benefit did the shareholders of Central receive?

3.  The court states, “Besides this, the loss shown by Central was under some rather flexible circumstances an asset to Central. It could have been carried forward for seven years . . .”  Let us suppose that, instead of this arrangement, Central decided to carry forward this loss to generate tax savings of $3,825,717.43 for itself over the next five years.  Suppose that these tax savings have a present value of $3.3 million.  Compared to this possibility how much has Central gained from the arrangement described in the case.

4.  As long as both sides are benefitting, will the court refuse to intervene?  What would be the result if Mahoning received only a dollar benefit?

